i ST. PETER'S INTER SCHOOL

Worksheet - 1
Subject - EVS
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A. Tick the correct answer-

1. What kind of family do you think a happy family?
a) Small family

b) Big family

c) loint family
2. Who often move from place to place?

a) Soldiers

b) Scientists

c) Farmers

3. Members of a family share values and
'\ a) Comforts

b) Traditions

c) Food
4. People who migrate to another country are called
a) Emigrants

b) Guest

c) Immigrants

5. People who leave their own country due to a war are called
a) Guests

b) Beggars

c) Refuges

8. Fill in the blanks-

1. The movement of people from one place to another iscalled __.

2. Some jobs are ___ in nature.
3. Slums are huge areas of __ housing.

& 4. The people who migrate to another country are called .

5. A ___ shows the relationship among the members of a family.

C. Answer the following questions:

1. Differentiate between emigrants and immigrants.

2. Why do students go to the big cities or other countries?

3. Why are family values changing?

4, Write down the names of some transferable jobs?

5, Why displacements occur during the massive tsunami of 20047
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ST.PETER'S INTER SCHOOL

Math Class Test
CLASS -V
Fi - 20
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1.Write the number 5604854 in the Indian and inrtermational place valus
charls.

And Also write their number names. 4
2.Put commas in the following numbers according to the Indian and
International place value systems. s
{n) BTESO2

(b} 40004040

(c) 15670988

(d) I98568%

(&) 987200

3. Arrange the top five movies in ascending order based on their first week
collection in rupees, st the box office. 2
Top five movies

The Dark Knight - Rs. 5,54,78,500

The Jurassic World - Rs. 1,00,18,080

The Avengers - Rs. 1,14,08,500

fron Man Hl - Rs. 2,09,42 850

Spiderman - Rs.8,92,48,125

{These are not actual figures)

4. | am a 7-digit number with digits 1 to 4 in sequence. Each alternate digit
is 0 and 1 is at the ten lakhs place. -Write the number in the Indian place

value system.
1




5. The distance from the earth to the moon is 3,84,400 km. Round off the
distance to the nearest 10: 100; 1,000 and 10,000.

6. Write the equivalent Roman numeral.
2

a82 b.152

7.Subtract the following Roman numerals.
2

aC-LV b. L-XXX

4

L
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Worksheet - T
Closs - v ( Mothemotics)
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ST. PETER'S INTER SCHOOL

Sanjua , Bakhirahat | South 14 pgs
WORKSHELT
CLASS -V, SURICT = GK
NAME - __ROAL-

A. TICK THE CORRECT ALTERNATIVE :
I} Which mosquito spreads the malaria 7 - (Ades [ Anopheles [ Culex )

ii) The word ‘Deciduous’ is taken from the word — { Decidere [ Decidu [ Decidare
).

iii) Indian Raitways owns - | 7/ 9 /10 ) Royal trains

iv) Which of the following have the longest hour of sleep ? -- { Sloth / horse / cow
k.

v]Wolffia is (Flowering / Non- Flowering) plant.

vi] The father of Indian Aviation Is - | Dr. Vikram Sarabhai / L.R.D Tata { Aryabhata
).

viil] Harminder Sahib Temple is located at — (| Patiala / Amvitsar / Ludhiana ) .
vili}(Arunachal Pardesh f Manipur / Kohima ) - is called the state of rising sun .
ix) Indian Rallways is the world’s - { 2nd / 4th / 3rd ) largest rail network .

wJThe hilly capital of Nagaland Is - { Pakhui / Majuli / Kohima | .

B. ANSWER THE FOLLOWING QUESTIONS IN FULL SENTENCE :

l)Which is the fastest growing plant 7

Ans:



.

i) From which crossing in India trains go to east , west , south , north direction ?
Ans:

i} When Indian Railway has its Mascot 7.
Ans:

v] Which seeds contain underdeveloped embryas ?
Ans:

v] Mention the name of the largest tree .
Ans:

vi) Which is the biggest mosque in India 7
Ans;



vii) wha is the father of indian cinema ¢

Ans:

Viii) Name a Chariot shaped temple .

Ans:

ix) What is the name of the oldest luxurious train of India 7

Ans:

x) What is habitat ?

Ans:



ST. PETER'S INTER SCHOOL
Sanjua , Bakhrahat , South 24 PG5
WORKSHEET
CLASS -V, SUBJECT - COMPUTER SCIENCE
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A. TICK THE CORRECT ALTERNATIVE :

i} Boolean Algebra was invented by - (George Boole f Charles Babbage [ Stephen).
i} | Hibernation mode [ sleep mode [ stand by mode ) - saves more power .

iil) (Sleepy / pixel / e-waste) = is the smallest building block of the screen .

iv]The original name of Windows is - { Interface Arguement / Interface Manager /
interface Login ).

v} The steps for the Green Disposal idea are -- Reuse-Refurbish-Recycle /
Recycle-Reuse-Recognize / Recycle- Reinforcement-Remake ) .

vi) {US Environmental Protection Agency / UNESCO / WHQO ) - launched the
energy star.

vil) The first mechanical device for calculation is — (Pascaline / Abacus / leibniz
calculator) .

wiii) Which is not a type of Operating System - | GUI / ENIAC [ Multi-user ).

ix) The computer from - (1st / 2nd [ 3rd ) generation were very large in size ,
taking up entire room .

x} {Lady Ada Lovelace [ George Boole [/ Charles Babbage) — is considered as first
programmer .



B. ANSWER THE FOLLOWING QUESTIONS IN FULL SENTENCE :
i) What is Booting ?

ANS-

ii) Can most of the screen-savers save the energy ?
ANS-

i) What is Operating System 7
ANS-

iv)Mention two approches of the green computing .

ANS-

v]What are the disadvantages of 1st generation computers ?(At least twa)

ANS-



vi) For the very first time which computer could handle both numeric and text
data ?

ANS.

Vil) Whao is the father of computer ?

ANS-

Vili) What is green computing ?

ANS-

ix) What input operation was used in 2nd generation computers ?

ANS-

x) Write the full forms — ENIAC , GUI

ANS-



